
 
 

 
 
 

 

 Cód Produto Produto  (Qtde) 

Total 1.043 

175148 FACA;ILAPAK/2460303110 29 

176150 FACA;ILAPAK/2460701148 4 

156593 RESISTENCIA;FORMAX/70638
D 

5 

152261 REBOLO;CFS/6616-2 4 

129638 MICRO;JBT JOHN 
BEAN;300010A 

3 

92270 SENSOR PROX IND;TUB;10-
30VCC;ALLEN BRADLEY/871C-
DT15NP30-D4 

8 

630812 ANEL;DA EMBALADORA 
ILAPAK;MOD CARRERA 
2000PC;IL03XX00CS30270 

22 

635701 PLACA;CYKLOP/02712014300 2 

171382 CORREIA 
SINCRONIZADORA;PASSO 
3MM;81DENTES;243-3M-9 

129 

630819 ANEL;DA EMBALADORA 
ILAPAK;MOD CARRERA 
2000PC;IL03XX00CS29990 

11 

648084 BUCHA;JUNIOR 
FRIGOMETAL/JU36XX00GT32
199 

9 

174565 BATENTE;ILAPAK/246050302
7 

4 



52052 PLUG 
BLINDADO;POLIAMIDA;6P+T;
380/440V;16A;CIRC;CIRC;S-
007-6 

5 

626369 EIXO;FLG/1737 3 

134367 GUIA;HOBART/2916701 3 

628728 ANEL;JUNIOR 
FRIGOMETAL/IL03XX00IX300
22 

3 

125938 MANGUEIRA;PALETRANS/043
0256 

2 

34852 ROLAMENTO FIXO 
ESF;40X80X18MM;GAI 
ACO;6208 2RS1 

51 

20683 ROLAMENTO FIXO 
ESF;70X110X20MM;GAI 
ACO;6014 Z 

23 

626908 LAMPADA LED;BASE 
G13;22W;ACAB 
BC;85/265V;1200X26MM 

15 

23894 PLACA;JARVIS/1032247 2 

125937 MANGUEIRA;PALETRANS/043
0255 

3 

32609 ROLAMENTO AUTOCOMP 
ROL;RADIAL;65X120X31MM;2
2213 CC 

3 

29056 ROLAMENTO AUTOCOMP 
ESF;10X30X14MM;GAI 
POLIAM;2200 ETN9 

22 

143178 REPARO P/ VALV TIPO GLOBO 
PEDAL 3/4" 

21 

79046 ROLAMENTO FIXO 
ESF;35X80X21MM;GAI 
ACO;6307 2RS1 

22 

22384 CORREIA V 
PERFIL;B;21/32X13/32X137,8
0POL;B-136 

11 



20686 ROLAMENTO FIXO 
ESF;75X115X20MM;GAI 
ACO;6015 Z 

11 

125950 MANGUEIRA;PALETRANS/043
0297 

5 

120142 CORRENTE 
TRANSMISSAO;AISI304;SIMPL
ES;1POL;ANSI C2040HPSS 

3 

95715 ROLAMENTO FIXO 
ESF;55X100X21MM;GAI 
ACO;6211 2RS1 

10 

34436 PINO;JARVIS/1011086 2 

132194 PARAFUSO;FORMAX/905864 19 

125372 PARAFUSO;MYCOM/1076221
35 

20 

31389 FUSIVEL NH;3;500 A;500 
V;ACAO RETARDO;3NA3 365 

3 

108228 ARRUELA;JARVIS/1004436 6 

110862 DISJUNTOR TRIPOL;2,5-4 
A;400V;ABB/MS116-4 

2 

20090 LÂMINA PARA ESTILETE 
ESTREITO 

27 

122784 ROTOR;BETTCHER/184398 1 

88837 CONEXAO TUBO/TUBO 
PNEUM;EM T;DIAM TUBO 
8MM;PARKER/FUT08 

20 

123783 ROLAMENTO FIXO 
ESF;40X90X23MM;GAI 
ACO;6308 2RS1 

8 

126046 PARAFUSO CAB 
SEXTAV;NC1X11POL;SAE1020 
GALV;RT 

6 

22964 CORREIA V 
PERFIL;B;21/32X13/32X94,80
POL;B-93 

8 

22377 CORREIA V 
PERFIL;A;1/2X5/16X76,30POL;
A-75 

13 



122753 ARRUELA;BETTCHER/184197 8 

 


